
Economics Stage 2B Examination – Marking Key

Section One: Multiple-choice





23% (20 Marks)
	Question Number
	Answer

	1
	D

	2
	D

	3
	A

	4
	D

	5
	D

	6
	A

	7
	D

	8
	B

	9
	A

	10
	D

	11
	D

	12
	A

	13
	D

	14
	A

	15
	D

	16
	C

	17
	D

	18
	B

	19
	D

	20
	A


Section Two: Short answer







Question 36








(12 marks)

(a)
(i)
Label the axes of the graph.

	Description
	Marks

	Vertical – Level of economic activity
	0.5

	Horizontal - Time
	0.5

	Total
	1


(ii)
Identify the phases of the business cycle labelled 1 – 4.

	Description
	Marks

	1 – Boom/Peak
	0.5

	2 – Recession/Downswing/Contraction
	0.5

	3 – Trough
	0.5

	4 – Upswing/Expansion
	0.5

	Total
	2


(b)
Identify one:



(i)
Leading indicator of economic activity





	Description
	Marks

	Building approvals, Stock levels, Manufacturers’ new orders, consumer expectations
	1

	Total
	1



(ii)
Coincident indicator of economic activity

	Description
	Marks

	Manufacturing output, Sales of consumer durables, Job advertisements, Money supply, Vehicle sales, Overtime worked, Retail sales, 
	1

	
	1



(iii)
Lagging indicator of economic activity

	Description
	Marks

	Interest rates, consumer debt, duration of unemployment, bankruptcies, CPI, Unemployment rate
	1

	Total
	1


(c)
Briefly outline 2 ways that economic policy can be used to stabilise the recession phase of the business cycle.

	Description
	Marks

	Monetary policy – RBA lowers interest rates, expansionary, encourages consumer spending, encourages business investment
	1

	Fiscal policy – Government increases spending, decreases taxes, expansionary
	1

	Total
	2


(d)
Explain the main characteristics of the recession phase of the business cycle.

	Description
	Marks

	Boom – high levels of consumer expenditure, high consumer and business confidence, higher profit share of GDP, little/no excess capacity, inflationary pressures higher, little/no cyclical unemployment
	1

	Contraction/recession – falling levels of consumer expenditure, falling consumer and business confidence, falling profit share of GDP, increasing excess capacity, inflationary pressures reducing, rising cyclical unemployment
	1

	Trough – low levels of consumer expenditure, low consumer and business confidence, low profit share of GDP, considerable excess capacity, inflationary pressures low, high cyclical unemployment, price of some goods may fall, lower levels of frictional unemployment
	1

	Upswing - rising levels of consumer expenditure, rising consumer and business confidence, rising profit share of GDP, decreasing excess capacity, inflationary pressures rising, falling cyclical unemployment
	1

	Total
	4


Question 22 








(12 marks)
(a)
(i)
Define unemployment rate

	Description
	Marks

	The proportion of the labour force who are willing and able to work, but have not been employed in paid work for at least one hour.
	1

	Total
	1



(ii)
Define long term unemployment

	Description
	Marks

	Those who have been out of work for more than 12 months or longer.
	1

	Total
	1



(iii)
Define discouraged worker

	Description
	Marks

	People who choose not to participate in the work force because all their efforts to find a job in the past have been frustrated.
	1

	Total
	1


(b)
Which type of unemployment would have risen during the global financial crisis?  Explain your answer.

	Description
	Marks

	Cyclical unemployment
	1

	Demand-deficient unemployment, many firms shed jobs to lower costs due to falling profits caused by lower consumer demand and lower investment
	1

	Total
	2


(c)
Explain why the fall in the unemployment rate is impressive in the light of the rise in the participation rate.
	Description
	Marks

	Participation rate refers to the proportion of the working age population either employed or unemployed.
	1

	The participation rate has been increasing which means that more people have been entering the work force, either employed or unemployed seeking employment.
	1

	Despite more people entering the workforce, an even larger number of people have been finding employment, which is contrary to just about all other economies in the world.
	1

	
	3


(d)
Discuss 2 reasons for Australia’s strong employment performance during and after the Global Financial Crisis.

	Description
	Marks

	Australia never experienced the same degree of decline in economic activity during the GFC as most other countries.
	1

	China, Australia’s main trading nation, maintained a high demand for resources during the GFC.
	1

	The Australian Government acted promptly and implemented significant fiscal stimulus packages to maintain consumer demand.
	1

	The RBA implemented significant expansionary monetary policy by reducing interest rates.
	1

	Total
	4


Question 23








(12 marks)

(a)
(i)
Complete the following:

	Description
	Marks

	10%
	0.5

	90%
	0.5

	-2%
	0.5

	102%
	0.5

	Total
	2



(ii)
When household savings are negative this means that their consumption is
	Description
	Marks

	Greater than the income earned
	1

	Total
	

1



(iii)
When household credit growth is negative this means that households are
	Description
	Marks

	Saving part of their income
	1

	Total
	1


(b)
Approximately what percentage of Aggregate Expenditure does household consumption represent?



	Description
	Marks

	60%
	1

	Total
	1


(c)
Apart from housing which type of spending do households usually finance with credit?


	Description
	Marks

	Large consumer durables such as cars, televisions, refrigerators, stereo systems, consumer services such as holidays.
	1

	Total
	1


(d)
Discuss the factors that could have influenced households to spend less and save more over recent years.



	Description
	Marks

	Naming and explanation of three of the following:

· Loss of jobs during the GFC caused by decreased export earnings, leading to decreased consumption.

· Decreasing consumer confidence due to economic conditions overseas, therefore leading to increased saving.

· Decreasing business confidence due to economic conditions overseas, therefore leading to decreased production.

· Decreased availability of credit funds, leading to lower investment by businesses and lower consumption by households.
	2 marks each

	Total
	6


Question 37








(12 marks)


(a)
(i)
Define the term “tax threshold”.
	Description
	Marks

	The level of income that can be earned that results in no income tax being paid.
	1

	Total
	1



(ii)
Define the term “marginal tax rate”.
	Description
	Marks

	The amount of tax paid on an additional dollar of income.
	1

	Total
	1


(b)
(i)
Is personal income tax a direct or indirect tax?  Explain your answer.


	Description
	Marks

	Direct tax 
	1

	As your income rises, the percentage of your income paid in tax rises.
	1

	Total
	2



(ii)
Use the table below to identify any two (2) other taxes that the 
Commonwealth government imposes and classify them as direct/indirect and 
proportional/progressive/regressive.

	Description
	Marks

	Choose two from the following:

· Regressive – Indirect - Goods and Services Tax, Excise duty, Customs duty.

· Progressive – Direct – Fringe Benefits Tax, Capital Gains Tax

· Proportional – Indirect – Company tax

· Proportional – Direct – Medicare levy
	1 mark each

	Total
	2


(c)
Is the personal income tax system progressive, regressive or proportional?  Use data from the table to explain your answer.


	Description
	Marks

	Progressive
	1

	Explanation using data from table to show how as income increases the marginal tax rate increases
	2

	Total
	3


(d) 
Explain why the Commonwealth government uses this type of personal income tax system.  Use a Lorenz curve to illustrate your answer.


	Description
	Marks

	Lorenz Curve – illustrates income distribution. 

Diagram of Lorenz Curve, labelled showing equal income distribution and unequal income distribution.
	1

	Intention of government using personal income tax is to move the Lorenz Curve closer to the equal income distribution line.is to 
	1

	Does this by using the tax which is progressive, i.e., taxes higher income earners at a larger 
	1

	Total
	3
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Question 38








(20 marks)

(a)
Using a diagram, explain the concept of equilibrium in the five sector circular flow of income model of the Australian economy.


	Description
	Marks

	Definition of CFM – Model used to describe total output, expenditure and income in the macroeconomy.
	1

	Assumptions of CFM listed:

· Only 2 sectors

· Households spend all income

· No leakages or injections

· All output is produced by firms
	1

	Diagram of 5 sector CFM drawn


[image: image2.wmf]
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	1

	Explanation of the various sectors, markets and flows within the model.
	2

	Explanation of the concept of equilibrium i.e. no change to the level of income
	2

	Explanation of equilibrium referring to the diagram showing using a numerical example for each flow.
	3

	Total
	10


(b)
Explain how the economy will return to equilibrium following an increase in planned investment.


	Description
	Marks

	Define/explain planned investment
	1

	Explain effect of increased planned investment i.e. TE > TO, therefore falling inventories
	1

	Define/explain concept of disequilibrium
	2

	Explain the response of firms i.e. increasing output, increasing resources needed, increasing incomes
	2

	Explain that equilibrium will occur when total leakages equals total injections, at a higher income level.
	2

	Show the above using a numerical value.
	2

	Total
	10


Question 26








(20 marks)
(a)
Explain how the Australian Bureau of Statistics calculates the Consumer Price Index.
	Description
	Marks

	Definition of CPI - measures the change in prices of a 'basket' of goods and services that are normally purchased by a family living in a state capital city or Canberra.
	1

	Consists of 5 main steps:
· selecting the 'basket' of goods and services - regimen

· setting the weights of the basket items

· collecting information on prices

· setting the base year

· calculating the index number
	1 mark each

	Total
	6


(b)
Discuss the causes and effects of inflation with reference to the Australian economy. 

	Description
	Marks

	Causes

· Many causes, classified under two main types – cost push and demand pull

· Demand Pull inflation – explanation - too much demand for the supply available

· Demand Pull inflation – Some examples in Aust economy, eg mining boom 2005 - 2008, housing boom of 2004 – 2006

· Cost Push inflation – explanation – rising costs of production

· Cost Push inflation – some examples in Aust economy, eg mining boom 20054 – 2006, oil price rises, depreciation of $A
	1
1
2
1
2

	
	7

	Effects

· Effects can be classified as output and redistribution effects.

· Output effects – explanation of 3 of the following:


#  fall in real incomes i.e. can afford to buy less, 


#  decreases economic efficiency i.e. diverts resources into 

speculative rather than productive areas, 


#  uncertainty i.e. reduces investment, 


#  capital-for-labour substitution i.e. labour prices itself out of the 

market, 


#  international competitiveness i.e. cannot compete against 

other countries

· Redistribution effects - explanation of 3 of the following:


#  Low & fixed income earners worse off – difficulty of maintaining 

real purchasing power


#  Sectors with market power (business owners, strong trade 

unions) can benefit i.e. pass on price increases


#  Creditors lose – the value of repaid funds loses value


#  Debtors gain – the value of repaid funds gains value


#  Bracket creep – PAYG taxpayers suffer and pay more tax


#  Bracket creep – govt gains from increased tax payments
	1
3
3

	
	7

	Total
	14
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